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ZHIE R HEW=SA & HAWSX=
=04 + (1.4)(7) =10.2% &
(H=QX 24H)

62= 14667, S0 R X =4H222 3)|n=5,Y",x*=10

9
:

~ERUSQAE 1 o = o (%+—(§3 a ) = (1.4667)( + ) = 1.61
1=1 l
-HEHELR A 02 = o] (1+ +(§;§ X) ) = (14667)(1 + + = 4) ) =3.08
1=1 l

;rﬁ& - _p 01 0,05 0.028 0.0 0.005

078 6314 12,706 iLEN B3.657
LEBG 2920 4.303 6965 boz3
01638 2353 3182 4541 LRal
1533 2132 2776 3747 4 50

(95% O:” é?&l‘) 1476 2015 2571 3365 4032
HO=XI0H10.2011, M= 2RO 240 242 3.08, 1.6101 0, t50.025=3.182

O B W ok =

—HAMUS 22 By + X + tin-2® O = 10.2 £ (3.182)V/1.61 = [6.15,14.24]
2

“HE S22 (B, + B X, + ¢ o. = 10.2 +(3.182)+/3.08 = [4.61,15.78]
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= X0=-7

= (yhat<-betal+betal®x0)

[1] 10.2

-

= (sigesq_ind<-sigusqg*(1+(1/n)+((x0-mx)A2/sumdxsq)))
[1] 3.08

= (sige_ind<-sqrt(sigesq_ind))

[1] 1.754993

= (yhat_ind_lhb<-({yhat-({-tc)*sige_ind))
[1] 4.614829

> (yhat_ind_ub<-(yhat+(-tc)*sige_ind))
[1] 15.78517

=

-

= (sigesq_mean<-sigusq®((1/n)+({x0-mx)A2/sumdxsq)))
[1] 1.613333

> (sige_mean<-sqrt{sigesqg_mean))

[1] 1.270171

= (yhat_mean_lb<-{yhat-(-tc)*sige_mean))
[1] 6.15775

> (yhat_mean_ub<-{yhat+{-tc)*sige_mean))
[1] 14.24225



= Tm{y~x)

A

call:
Im{formula = v ~ x)

coefficients:
{(Intercept) X
0.4 1.4

= ols<-Tm{y~x)
= summary{ols)

call:
Im(formula = v ~ x)

Residuals:
1 2 3 4 5
8. 000e-01 -6.000e-01 -4.441e-16 -1.400e+00 1. 200e+00

Coefficients:

l? Estimate std. Error t value Pr{=|t]|)
0 {(Intercept) 0.400 1.625 0.z246 0.8214
Z?\ % 1.400 0. 383 1.656 0.0354 *
1 ———
Signif. codes: O “#*%*=' Q0,001 ***' 0.01 **° 0.05 *.” 0.1 * " 1

Residual standard error: 1.211 on 3 degrees of freedom
Multiple R-squared: O0.8167, Adjusted R-squared: 0.7556
F-statistic: 13.36 on 1 and 3 DF, p-value: 0.03535

= confint{ols)

2.5 % Q7.5 %
(Intercept) -4.7708632 5.570863
% 0.1812159 2.618784



= predict{Im{y~x)]

1 2 3 4 3
3.2 4.6 6.0 7.4 8.8
> new<-data.frame(x =

7)

= predict{Im{y~x), new, se.fit

ifit
&H0l=
fse.fit

1
10.2
[1] 1.270171

Bdf
[1] 3

iresidual.scale
[1] 1.21106

= pred.w.plim <- predict{Im{y ~ x), new, interwval

> pred.w.plim
fit Twr upr
1 10.2 4.614829 15,78517

= pred.w. clime-predict{In{y ~ x), new, se. fit=T, interval. =

= pred.w.clim
ifit

it Twr upr
1 10.2 6.15775 14.24225

fse.fit
[1] 1.270171

gdf
[1] 3

iresidual.scale
[1] 1.21106

= TRUE)
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= "prediction")

"confidence")

BaW=2X=
=

HE 0l =2 Xt

= ggPredict{ols, xpos=0.74, wvjust=l.5,show. error=T)

%]
Ey
o
=]

&=1.270171% = 1.61

&b=1.61 + 1.21106% = 3.08




